Todo: Pact Cramr = Fula, Sp2, far
© Feedbock
® Com\\mbl(t@

1(a) FL) = [0 1 ]i&] + Tg] ulil1 Gl Shbflih?: Al Jacl=1

2 -

Recall eigemvaluer can be foumd vid deH(A-A1) =0
-A |l -
M_( 2 —(~>\> = °

)\1+A -l =o =)| Az —25. Ar= A - ot stable

®) wil: Of 4,7 X

¥l 12

L4 = [Z _‘l(]i&u HEESS kg

o ’] () 4 [‘i %—I 2 + @)

_IL~(

- F‘ ‘ﬂ W 4+ 2]

2 o
TAL

> (+3)(A-4) =0

Q) [A= '-&,__, Py = "&7
%L;’é‘f =5 fden'md.’]

!
[
« det(A -20) =0 (‘
det (‘R‘A \*'FZ_\ = 6 ' (4) Yer kecaave wita -@,edlaa.dc,
l

2 (-2 UM *€?7Cquluer‘ e now -,
(xel<| & sotirfred

(o) (E2) =2 (1) =o
X% (HON & (hi2h 2) =0
c ~h =0 O fi=1

~fi-2h -2 = '{-( - 4 = "—\3—\

g

2



&) LM = [;’ _1(‘,33&] + ]_fl]uﬁ]

2 cant Shblize a ﬂ1r+w\ —  show that efﬁemm\w(f) not aHed'edl Q) Jeed hacke
XG4y = [0 | m ARERAE

& A]

F 4
;([\‘\-FB X 'H'{z
-lnr

det( A - XD) = o
M[ﬁ—}\ 114, \a =0
-4 -
EENCEINSY ~f+h) @560 =o
S P A E L ~h -l -2 =0
At (h~d)a—2(Hhah) =6 = Mia-2-=0
Mol leap ¢F o g
Qer) (A (e feda) = o0
OncJ'v( o D bor dwage ke -2 roqeresrof £
- onek fbss'doh o shablite  systemn

A ! Ca“:(, h V\""!"’E,(?
S ST Sha -2 spon !

Q= AR +bul) |, x[el=5
9
¥z buls) Hre hoern— Spom s 3
R = ADuTn+ b uTa)
q_"’ ~ ~ San
XN = ATbulsy 4+ ABUT 4 bule) dren 5], 2R14[2]

\



_‘LQ ~

M0 = AT Bua+ AT« Bulind]

G /
JUN C,mn)‘}m ]

'Co/d'/\“ab'l(—&j Moty C€> = [\AE_(ﬁl AC-Z_‘:’, . :ﬁ]

= H b ltable, the cbrrh\,uqla'\m\ﬁ matix Murk spav e spag entirely
' ~

— the olumar ore ,Qinewlj ;nJerde./\-l— v e othes

3 T conbllade, He Mabix is fxll fanlc

) K0y = ° llxrf\ t ‘lurﬂ , <o) '-[\é]

0 0

€= | &b, Ab, b)
:[8 4 C;‘\-e wt Bl = pokcomrollable.-

fenlc. ['137
> > Yt o “
o e [J eamt R
@
ST = [ 1 i) =[S | 260 (@]
Ul -3+ 2ule .
C‘o) X(\t.]- —- g
N -3)(,1‘“;4] 41 x0=0 | f ]
Ak &1 R Li-0) 2 uli -]
¥y .
- 2°
Lo+ %))
X L=\ +2ule-0 s [’go]
@ ¢k = ~6{-2uT ] [@] —s+2_u ngi?-ﬁl
3¢ ZMY\")

'~F Can \m(u.e,
= ° ¥ SF“V‘ O 9
d / c]



